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Physics	vector	practice	problems	and	answers	pdf

Physics	vector	practice	problems	and	answers	pdf.	Vector	practice	problems	and	answers	physics.

(b)	What	distance	the	balls	fall	into	each	other?	How	many	kilometers	south	and	how	many	miles	west	does	the	car	move	for	4	hours?	Solution:	A	bearing	is	an	acute	one	that	a	straight	path	makes	with	a	fixed	line	north-south.	In	this	problem,	the	direction	and	magnitude	of	a	vector	has	been	given,	but	its	direction	is	not	in	the	standard	form	to
resolve	it	in	its	components.	$	29^\	Circ	$	to	the	west,	because	the	figure	below	this	is	measured	from	the	$	-Y	axis.	As	you	can	see,	the	vector	produces	a	US	$	45^\	circ	$	with	the	$+X	axis	in	the	anti	-agrement	direction.	The	speed	of	the	car	is	30	km/h.	There	are	two	ways	to	form	the	vectors.	The	first	involves	the	diagrams	of	scale,	while	according
to	trigonometry.	Add	together,	connecting	the	vectors	''	Tip	is	â	€.	The	following	example	illustrates	the	concept.	A	man	initially	walks	to	the	Northeast	for	11.40	meters,	continues	to	walk	east	by	6.6	meters	and	finally	walk	to	the	northwest	by	21.26	meters	before	stopping.	\	[x	=	(30)	(4)	=	120	\	quad	{\	rm	km}	\]	Therefore,	the	length	and	direction	of
the	known	movement.	Thus,	the	components	of	the	foran	vector	are	\	begin	{align*}	f_x	&	=	|	\	VEC	{F}	|	\	cos	\	theta	\\	&	=	(80)	\	cos	45^\	circ	\\	&	=	40	\	sqrt	{2}	\	quad	{\	rm	n}	\\\\\	f_y	&	=	|	\	VEC	{F}	|	\	sin	\	theta	\\	&	=	(80)	\	sin	45^\	circ	\\	&	=	40	\	sqrt	{2}	\	quídruua	{\	rm	n}	\	end	{align*}	problem	(2):	a	vector	has	an	X	component	of	-10	units
and	Y	components	of	13	units.	For	example,	their	weight	and	height	are	expressed	in	terms	of	quantity	and	unity,	but	they	are	not	being	directed.	Examples	of	scalar	quantities	are	speed,	mass,	temperature,	energy,	length	and	distance.	The	coordinate	system	is	found	as	$	V_X	=	|	\	VEC	{V}	|	\	cos	\	theta	$	e	$	v_y	=	|	\	VEC	{V}	|	\	sin	\	theta	$	where	$
theta	$	©	measured	from	a	positive	x	axis	in	a	hourly	direction.	Remember	the	fanatic	that	the	magnitude	of	the	speed	vector	is	called	speed.	The	addition	of	the	above	vectors	produces	the	displacement	vector	\	begin	{align*}	\	vec	{d}	&	=	\	vec	{d}	_1+\	vec	{d}	\\	&	=	200	\,	\	hat	{i	}	-300	\,	\	hat	{j}	\	end	{align*}	¢	(b)	The	direct	distance	all	path	is
found	calculating	the	magnitude	of	the	displacement	vector.	If	the	vector	is	in	the	first	and	fourth	quadrant,	the	one	obtained	from	the	above	fan	is	the	right	answer.	If	we	are	contained,	we	should	add	$	180^\	circ	$	to	the	fan	of	the	Fan.	Vector	problem,	components	show	that	the	original	vector	is	in	the	second	quadrant;	Therefore,	the	correct	one
with	the	$+x	a	axis	in	a	direction	in	the	anti-hourly	direction	(the	pattern	measured	for	a	vector)	is	obtained	below	\	[\	Alpha	=	180^\	Circ-52^\	Circ	=	128^\	Circ	\]	As	a	result,	the	vector	has	a	length	of	16.4	units	and	produces	a	$	128^\	circ	$	with	the	$+x	$	.	:	In	each	of	the	following	cases,	the	components	of	the	vector	are	data.	Vector	V	and	its
components.	(B)	a	speed	vector	of	20	m/s	that	produces	a	US	$	37^\	circ	$	in	the	anti	-hourly	direction	from	the	direction	$	-x	$.	Source:	Nikos	Koullas,	Flickr	(CC	by	2.0).	Solve	vectors	in	components	help	us	when	we	are	dealing	with	complex	vector	problems.	In	order	to	resolve	a	vector	in	its	components,	we	need	to	measure	the	travel	and	the
vertical	length	of	the	vector	and	the	state	is	as	to	two	separate	magnitudes.	Let's	take	a	look	at	the	example	below	to	better	understand	the	concept.	Find	the	vector	components	shown	below.	To	find	the	components	of	this	vector,	we	need	to	start	determining	their	lengths	and	vertical.	As	you	can	see,	the	horizontal	length	is	12	and	the	vertical	length
is	10.	10.	Problem	(9):	Someone	is	400	m	in	west,	then	runs	200	m	from	north	and	then	walks	300	m	in	a	direction	of	US	$	30^\	circs	$	a	east	from	the	north.	(b)	What	is	the	distance	of	direct	distance	between	A	C?	Source:	Oã¤ã	Dulcan	Tezcan,	Studysmarter.	the	vectors	in	their	components.	Solution:	Speed	​​and	is	the	characteristic	of	the	velocity
vector	in	fanatic.	We	know	this:	If	we	resolve	the	equation	for	the	VX,	we	get:	Let's	now	determine	the	magnitude	of	the	vertical	component	vy.	The	vector	components.	Here,	we	chose	the	positive	axis	of	$	X	as	a	reference.	Because	it	is	more	fancil	to	reach	the	$	23^\	crac	$	west	of	south	axis	from	the	$+x	$	in	the	anti	-hority	direction,	so	after	adding
$	90^\	circs	$	to	US	$	23^\	Circ	$,	we	must	insert	a	negative	in	front	of	the	result.	$	\	alpha	=	90^\	circ+23^\	circs	=	-113^\	circ	$	and	$	180^\	circ+30^\	circ	=	210^\	circ	$.	For	the	first	flight,	the	displacement	vector	components	are	obtained	as	below	\	begin	{align*}	a_x	&	=	|	\	VEC	{a}	|	\	cos	\	alpha	\\	&	=	250	\	Times	\	cos	(-113^\	circi)	\\	&	=
-97.68	\	quad	{\	rm	m}	\\\\\\	a_y	&	=	|	\	VEC	{a}	|	\	sin	\	alpha	\\	&	=	250	\	Times	\	sin	(-113^\	circ)	\\	&	=	-230.12	\	quad	{\	rm	m}	\	end	{align*}	in	the	second	flight,	the	components	of	the	displacement	vector	$	\	vec	{b}	$	s	£	o	\	begin	{align*}	b_x	&	=	|	\	VEC	{B}	|	\	cos	\	theta	\\	&	=	200	\	Times	\	cos	(210^\	circi)	\\	&	=	-173.20	\	quad	{\	rm	m}
\\\\row	b_y	&	=	|	\	VEC	{a}	|	\	sin	\	theta	\\	&	=	200	\	Times	\	sin	(210	^\	circi)	\\	&	=	-100	\	quad	{\	rm	m}	\	end	{align*}	Now,	the	corresponding	component	addition	provides	The	components	of	the	displacement	vector	$	\	vec	{d}	$	\	begin	{align*}	d_x	&	=	a_x+b_x	\\	&	=	-97.68-173.20	\\	&	=	-270.88	\	quad	{\	rm	m}	\\\	\	d_Y	&	=	a_y+b_y	\\	&	=
-230.12-100	\\	&	=	-330.12	\	quad	{\	rm	m}	\	end	{align*}	recall	Fanic	that,	the	magnitude	of	the	displacement	vector	is	the	direct	distance	between	the	starting	and	ending	points.	.	In	this	way,	you	will	always	have	the	right	one.	Here,	the	resulting	vector	is	in	the	quadrant	fourth,	so	that	the	negative	in	the	obtained	above	indicates	that	it	is	below	the
positive	problem	of	$	X	$.	A	plane	fly	from	point	A	a	B,	a	distance	of	300	km	towards	US	$	32^\	circs	$	a	east	from	the	north.	When	we	solve	a	vector	in	its	components,	we	always	get	a	horizontal	and	a	vertical	value.	The	lengths	we	measure	are	magnitudes	for	vector	components.	As	you	can	see,	the	components	of	this	vector	are	two	vectors,	a.
Horizontal	and	a	vertical,	with	magnitudes	of	12	and	10.	Can	we	solve	a	vector	in	its	components	when	we	can	not	measure	its	horizontal	and	vertical	lengths?	Yes,	we	can,	but	let's	take	a	look	at	how	it	is	done.Figure	3.	(C)	What	is	the	displacement	vector	with	the	$	x	positive	axis?	Solution:	The	goal	is	to	find	the	displacement	between	the	innio	to
the	end.	Source:	Oã¤ã	Dulcan	Tezcan,	Studysmarter.	,	We	apply	the	same	equation.	Total	displacement	is	the	Deyandcy	sum,	which	can	be	calculated	as	follows:	determining	the	resulting	vectors	using	trigonometry,	if	two	vectors	are	perpendicular	to	each	other,	we	can	find	the	resultant	using	trigonometry.	In	an	example.	Two	friends	are	pushing	a
box.	The	two	forms	that	apply	are	perpendicular	to	each	other.	One	of	the	friends	is	applying	a	3	-Newtons	(F1)	forã	in	the	east	direction,	while	the	other	is	applying	a	4	Newtons	(F2)	forã	in	the	north	direction.	the	vertical	and	horizontal	components	of	speed.	Therefore,	the	final	is	US	$	180^\	circ+37^\	circ	=	217^\	Circ	$.	Find	the	resulting	force,
acting	in	the	body.	Solution:	The	goal	is	to	find	the	sum	of	two	vectors.	Source:	Oatsy40,	Flickr	(CC	by	2.0)	.Avector,	on	the	other	hand,	Hasmagnitude	and	direction.	The	moment	of	an	object,	for	example,	is	equal	to	its	mass	by	acceleration	and	has	a	direction,	which	makes	it	a	vector	unit.	Examples	of	vector	quantities	are	speed,	acceleration,
moment,	displacement	and	force,	including	weight.	Figure	2.	The	acceleration	is	a	vector	quantity.	Again,	we	know	this:	If	we	resolve	the	equation	for	VY,	we	acquire:	add	vectors	together	so	that	two	vectors	together	are	called	to	find	its	resultant.	Each	direct	path	is	assumed	as	a	vector.	Determine	the	total	displacement	of	man.	To	determine	the
stotal	displacement	of	man,	we	need	to	declare	the	lengths	he	has	walked	as	vectors,	each	with	the	right	direction	and	magnitude.	Vector	B	and	its	third	as	a	C.Figure	Vector	4.	A	set	of	vector	practical	problems	that	appear	in	the	courses	of	fanatic	ones	are	collected.	With	this	reminder,	the	ball	speed	components	are	calculated	as	below	\	begin
{align*}	V_X	&	=	15	\	Times	\	cos	37^\	circi	&	=	12	\	qua	{\	rm	m/s}	\\	\	v_y	&	=	15	\	sin	37^\	circi	&	=	9	\	quad	{\	rm	m/s}	\	end	{align*}	Problem	(12):	two	forms	with	the	following	properties	applied	to	one	body.	To	measure	it	from	the	$+X	axis	in	the	direction	in	the	anti	-hority	direction,	we	must	add	it	to	$	180^\	circ	$.	Source:	Oã¤ã	Dulcan
Tezcan,	Studysmarter.	We	do	this	with	the	help	of	vector	components	as	follows	\	begin	{align*}	Therefore,	the	difference	between	the	two	vectors	is	a	vector	like	$	\	vec	{c}	=	-5	\	hat	{i}	-60	\	hat	{j}	$	whose	magnitude	provides	the	necessary	distance.	Therefore,	\	begin	{align*}	f_x	&	=	f_	{1x}+f_	{2x}	\\	&	=	32-30	\	sqrt	{2}	\\	&	=	-10.42	\	qua	{\
rm	n}	\\\\	f_y	&	=	=	F_	{1y}+f_	{2y}	\\	&	=	24-30	\	sqrt	{2}	\\	&	=	-18.42	\	quad	{\	rm	n}	\	end	{align*}	therefore,	the	forã§	vector	The	resultant	is	described	in	a	vector	notion	as	\	[\	vec	{f}	=	-10.42	\	hat	{i}	-18.42	\	hat	{j}	\]	calculated	as	\	[|	\	VEC	{F}	|	=	\	sqrt	{(-10.42)^2+(-18,42)^2}	=	21.17	\,	{\	rm	n}	\]	Positive	is	found	by	the	following
fanmula	\	begin	{align*}	\	alpha	&	=	\	tan^{-1}	\	fac	{f_y}	{f_y}	\\\\\	&	=	\	tan^{-1}	\	left	(\	frac	{-18.42}	{-10.42}	\	RIGHT)	\	\\\	&	=	60.5^\	Circ	{align*}	¢	(13):	a	car	moving	and	has	a	$	s	bearing	29^\	circi	\,	W	$.	(b)	The	goal	is	to	find	difference	between	two	vectors.	Source:	Oã¤ã	Dulcan	Tezcan,	Studysmarter.two	Forces,	F1AndF2,	are
perpendicular	to	each	other,	which	means	that	the	optotal	magnitude	is	equal	to	the	hypotenuse	of	the	tri	-eglus	formed	by	these	vectors.	It	has	a	direction	and	magnitude.	To	solve	a	vector	in	its	components,	we	need	to	measure	the	horizontal	and	vertical	lengths	of	the	vector	and	express	them	as	two	separate	vectors.	Vectors	using	scale	diagrams,
we	need	to	connect	the	vectors	''	Dipline	the	tail	â	€.	After	250	km,	the	pilot	changes	his	direction	and	flies	due	to	US	$	30^\	Circ	$	to	the	south	of	West	for	200	km.	Two	perpendicular	forces	that	affect	a	box.	(a)	The	magnitude	of	the	first	vector	is	\	[|	\	VEC	{D}	_1	|	=	\	sqrt	{10^2+20^2}	=	22.36	\]	In	the	same	way,	the	magnitude	of	the	second
vector	that	is	the	distance	is	calculated	as	Therefore,	the	ball	in	the	second	attempt	traveled	more	distance.	(a)	How	did	the	ball	go	through	the	distance	further?	\	Begn	{Getress*}	a_x	=	|	\	VEC	{a}	|	\	cos	\	theta	\\	a_y	=	|	\	VEC	{a}	|	\	sin	\	theta	\	end	{gather*}	here,	the	east	of	the	north	means	that	you	first	face	the	north	and	then	move	to	©	$	32^\
circs	$	to	the	east.	But	this	is	a	measured	from	the	direction	+y	in	CW	direction.	(a)	Write	the	component	displacement	vector.	After	military	operations,	the	avião	flies	to	point	C,	which	is	340	km	of	distance	and	$	63^\	Circs	$	West	of	the	North.	Find	the	magnitude	and	direction	of	the	vector?	In	its	first	attempt,	the	path	of	the	ball	in	two	dimensions



is	described	as	$	\	vec	{d}	_1	=	10	\	hat	{i}	+20	\	hat	{j}	$.	The	magnitude	of	these	vectors	will	give	the	distances	that	the	balls	traveled.	These	characteristic	values	​​of	a	vector.	To	convert	it	from	the	+x	axis,	we	have	$	90^\	circ-32^\	circ	=	58^\	circs	$.	\	circ	=	153^\	Circ	$	measured	from	the	$+x	$	in	a	direction	ccw	(figure	below).	(a)	With	these
information,	the	vector	components	are	written	below	\	begin	{align*}	\	vec	{d}	_	{ab}	&	=	|	\	vec	{d}	_	{ab}	|	\	cos	58^\	circ	\,	\	hat	{i}+|	\	vec	{d}	_	{ab}	|	\	sin	58^	\	circ	\,	\	hat	{j}	\\	&	=	(300)	(0.53)	\,	\	hat	{i}+(300)	(0.85)	\,	\	hat	{j	\\	&	=	159	\,	\	hat	{i}	+255	\,	\	hat	{j}	\	end	{align*}	and	the	second	way	we	have	\	start	{align*}	\	vec	{d}	_	{BC}
&	=	|	\	vec	{d}	_	{bc}	|	\	cos	153^\	circ	\,	\	hat	{i}+|	\	vec	{d}	_	{bc}	|	\	sin	153^\	circ	\,	\	hat	{j}	\\	&	=	(340)	(-0.9)	\,	\	hat	{i}+(340)	(0.45)	\,	\	hat	{j}	\\	&	=	-	306	\,	\	hat	{i}	+153	\,	\	hat	{j}	\	end	{align	*}	Therefore,	each	displacement	in	vector	components	is	summarized	as	$	\	vec	{d}	_1	=	(159,255)	$	e	$	\	vec	{D}	_2	=	(-306.153)	$.	(B)	Total
displacement	is	the	sum	of	the	two	displacements	above	which	is	a	vector	adding	problem.	First,	The	force	vectors	in	their	components	and	then	add	the	corresponding	components	to	find	the	resulting	vector	components.	resulting.	$	\	vec	{f}	$	with	magnitude	of	$	|	\	VEC	{F}	|	$	that	makes	a	$	\	theta	$	with	the	positive	x	axis	in	the	horning
direction,	is	found	by	the	following	fanmula	\	begin	{gather*}	f_x	=	|	\	VEC	{F}	|	\	cos	\	theta	\\	f_y	=	|	\	VEC	{F}	|	\	sin	\	theta	\	end	{rean.*}	The	components	of	forms	in	this	problem	are	\	begin	{align*}	f_	{1x}	&	=	|	\	VEC	{F}	_1	|	\	cos	37^\	circ	\\	&	=	40	\	Times	0.8	\\	&	=	32	\	quad	{\	rm	n}	\\\\	f_	{1y}	&	=	|	\	VEC	{F}	_2	|	\	sin	37^\	circ	\\	&	=	40	\
Times	0.6	\\	&	=	24	\	quad	{\	rm	n}	\	end	{align*}	and	the	same	way,	for	the	forion	vector	$	\	vec	{f}	_2	$	\	begin	{align*}	f_	{2x}	&	=	|	\	VEC	{F}	_2	|	\	cos	225^\	circ	\\	&	=	60	\	Times	\	Left	(-\	sqrt	{2}/2	\)	\\	&	=	-30	\	sqrt	{2}	\	qua	{\	rm	n}	\\\\\	f_	{	2Y}	&	=	|	\	VEC	{F}	_2	|	\	sin	225^\	circ	\\	&	=	60	\	Times	\	Left	(-\	sqrt	{2}/2	\	right)	\\	&	=	-30	\	sqrt
{2}	\	qua	{\	rm	n}	\	end	{align**	}	The	resulting	force	is	the	vector	of	these	two	vectors.	Remember	that	when	you	have	these	information,	we	can	relate	to	them	with	the	components	of	a	vector	by	the	following	fanmulas	\	begin	{Getress*}	r_x	=	|	\	VEC	{R}	|	\	cos	\	theta	\\	r_y	=	|	\	VEC	{R}	|	\	sin	\	theta	\	end	{gather*}	where	$	\	theta	$	©	ourn	the
vector	$	\	vec	{r}	$	for	the	positive	axis	$	x	and	is	measured	in	a	direction	in	anticlockwise.	The	components	are	\	begin	{align*}	r_x	&	=	|	\	VEC	{R}	|	\	cos	\	theta	\\	&	=	(10)	\	cos	30^\	circ	\\	&	=	5	\	sqrt	{3}	\	qua	{\	rm	m}	\\\\\\row	r_y	&	=	|	\	VEC	{R}	|	\	sin	\	theta	\\	&	=	(10)	\	sin	30^\	circi	&	=	5	\	quad	{\	rm	m}	\	end	{align*}	(b)	In	this	section,	the
The	negative	x	axis	given	as	shown	in	the	figure.	Remember	that	the	speed	vector	has	a	magnitude,	called	speed,	and	a	direction.	\	Theta	=	37^\	Circ	$,	of	a	vector	is	supplied	and	wishes	its	components.	The	$	X	component	of	the	vector	is	found	by	the	following	fanmula	\	begin	{align*}	\	vec	{v}	_x	&	=	|	\	VEC	{V}	|	\	cos	\	theta	\\	&	=	100	\	\	cos	37^\
circ	\\	&	=	100	\	Times	0.8	\\	&	=	80	\	quad	{\	rm	m/s}	\	end	{align*}	In	fact,	these	types	of	vectors,	are	used	With	frequency	in	problems	of	movement	of	the	project.	If	you	want	to	solve	more	problems	in	the	Motion	See	the	following	page:	¢	Project	Project	Problems	(5):	Find	a	unit	vector	$	\	hat	{u}	$	in	the	direction	of	the	vector	$	\	vec	{w}	=	3	\
hat	{i}	+11	\	hat	{j}	$.	‚Solution:	If	all	components	of	a	vector	are	divided	by	its	magnitude,	entity,	by	definition,	a	unit	vector	in	the	direction	of	the	original	vector	is	constructed.	The	magnitude	of	the	vector	provided	is	calculated	as	\	[|	\	VEC	{w}	|	=	\	sqrt	{3^2+11^2}	=	\	sqrt	{130}	\]	Therefore,	the	unit	vector	is	found	below	\	begin	{align*}	\	hat
{u}	&	=	\	frac	{w	{w	}}	{|	\	vec	{w}	|}	\\\\\	&	=	\	frac	{(3.11)}	{\	sqrt	{130}}	\\\\	&	=	\	left	(\	frac	{3}	{\	sqrt	{130}}	,	\	frac	{11}	{\	sqrt	{130}}	\	right)	\	end	{align*}	One	of	the	main	properties	of	the	unit	vector	is	that	your	magnitude	should	be	1.	You	can	check	if	the	unit	vector	obtained	above	can	satisfies	this	condition.	The	direction	and
magnitude	of	the	vectors,	units	and	movement	vectors	of	the	project	were	some	of	the	problems	solved.	Determined	the	resulting	vector	for	the	total	forction	that	is	being	applied	to	the	box.	Vector	Word	Problems	-	6):	A	cruise	ship	travels	200	km	expired	east	from	point	A	A	B	and	then	300	km	south	of	B	to	the	final	destination,	point	C.	Solution:	The
components	of	A	vector,	say	$	\	vec	{a}	$,	are	data	that	is	related	to	the	magnitude	and	direction	of	the	vector	by	the	following	fanmula	\	begin	{align*}	|	\	VEC	{a}	|	&	=	\	sqrt	{a_x^2+a_y^2}	\\	&	=	\	sqrt	{(-10)^2+(13)^2}	\\	&	=	16.4	\\\\	\	\	\	\	arctan	\	frac	{a_y}	{a_x}	\\	&	=	\	arctan	\	frac	{13}	{-10}	\\	&	=	-52^\	circ	\	end	{align*}	has	a	subtle
point	on	the	direction	of	direction	of	the	vector.	(a)	Write	each	displacement	in	the	vector	components.	\	Begin	{align*}	\	vec	{d}	_3	&	=	|	\	VEC	{D}	_3	|	\	cos	60^\	circ	\	hat	{i}+\	vec	{d}	_3	\	sin	60^\	circ	\	hat	{j}	\\	&	=	&	=	(1/2)	\	hat	{i}	+(300)	(\	sqrt	{3}/2)	\	hat	{j}	\\	&	=	150	\	hat	{i}	+150	\	sqrt	{3}	\	hat	{j}	\	end	{align*}	If	we	consider	east
and	north	as	positive	$	x	$	y	$	axes,	the	first	two	displacements	in	the	vector	vector	are	written	as	$	\	vec	{d}	_1	=	-400	\,	\	hat	{i}	$,	$	\	vec	{d}	_2	=	200	\,	\	hat	{j}	$.	‚Add	the	vector	components	above,	provides	the	components	of	the	total	use	vector	to	the	end	\	begin	{align*}	\	vec	{d}	&	=	\	vec	{d}	_1+\	vec	{d}	_2+\	vec	{d	}	_3	\\	&	=	(-400,	0)+
(0.200)+(150.150	\	sqrt	{3})	\\	&	=	(-400+0+150.0+200+150	\	sqrt	{3})	\\	&	=	(-250,460)	\	end	{align*}	Therefore,	the	vector	that	shows	the	total	displacement	is	written	as	\	[\	vec	{d}	=	-245	\,	\	hat	{i}	+460	\,	\	hat	{j	}	\]	The	magnitude	of	the	above	vector	provides	the	direct	distance	between	the	innio	to	the	end	as	\	[|	\	VEC	{D}	|	=	\	sqrt
{(-245)^2+(460)^2}	=	524	\	quad	{\	rm	m}	\]	\	arctan	\	fac	{d_Y}	{d_x}	\\	&	=	\	arctan	\	frac	{460}	{-245}	\\	&	=	-62^\	circ	\	end	{align	**}	because	the	sum	vector	is	in	the	second	Quadrant,	add	$	180^\	Circ	$	to	find	the	right	answer	as	\	[\	alpha	=	180^\	circ+(-62^\	circ)	=	118^\	circ	\]	Problem	(10):	an	avião	It	is	flying	in	the	direction	of	US	$
23^\	Circ	$	West	of	the	South.	(b)	Find	the	displacement	and	direction	of	the	use	of	the	use	to	end.	Thus,	the	obtained	in	this	way	is	$	\	alpha	=	180^\	circ+61^\	circ	=	241^\	circ	$.	We	can	determine	the	relationship	between	the	“magnitude	of	the	components	with	the	help	of	trigonometry.	Let's	determine	the	magnitude	of	the	Horizontal	VX
component.	It	is	simply	a	scale	of	quantities	such	as	kilograms	or	centimeters.	In	this	case,	these	are	displacement	vectors.	To	find	the	total	displacement	along	the	flight,	we	must	first	write	each	displacement	vector	in	its	component	form	and	then	add	the	corresponding	components.	First,	put	magnitudes	and	directions	in	a	coordinate	system	to
form	the	vectors,	as	in	the	figure	below,	remember	that,	in	such	problems,	the	supplied	ones	should	be	measured	from	a	reference	axis	in	the	direction.	schedule.	...	Using	uniform	movie	equation,	$	x	=	vt	$,	we	can	find	the	total	distance	traveled	by	the	car	in	the	direction	provided	for	4	hours.	Which	is	the	component	of	The	speed	of	cannonball	with
horizontal	solution?	In	the	second	blow,	the	ball	follows	the	path	of	$	\	vec	{d}	_2	=	5	\	hat	{i}	-40	\	hat	{j}	$	in	a	straight	line.	There	are	two	moms	to	achieve	this.	One	is	using	all	the	grant	and	applying	the	pythagorem	theorem	to	find	the	hypotenuse	of	the	right	trihydel	(which	is	the	direct	distance)	as	the	figure	below.	follows.	_2	=	-300	\,	\	hat	{j}
$.	\	begin	{align*}	v_x	&	=	|	\	VEC	{V}	|	\	cos	\	theta	\\	&	=	(20)	\	cos	217^\	circ	\\	&	=	-16	\	quad	{\	rm	m/s}	\\\	\	v_y	&	=	|	\	VEC	{V}	|	\	sin	\	theta	\\	&	=	(20)	\	sin	217^\	circi	&	=	-12	\	quad	{\	rm	m/s}	\	end	{align*}	(c)	here,	the	direction	of	Force	vector	is	measured	from	the	direction	$	-Y	$	as	the	figure	below.	By	physexams.com	Flash	cards	(c)	a	80
n	force	vector	that	produces	a	US	$	135^\	circ	$	in	the	anti-hourly	direction	of	$	-Y	direction	$.	(Âtgulus)	of	the	vectors	are	data.	Vectors	can	be	used	to	solve	a	variety	of	problems	that	include	quantities	such	as	acceleration,	moment,	force,	speed	and	displacement.	What	is	the	difference	between	scalar	and	vectors?	Ascalaris	an	amount	that	has
nodirection.	Solution:	The	Path	of	Balls	is	given	as	vectors.	Determine	the	distance	and	direction	of	the	starting	point	movement	to	the	end	point.	From	the	north,	first,	facing	the	north	and	then	moves	towards	the	east	for	$	30^\	circs	$.	^\	circ	$	with	$+x	$	-xis	in	the	direction	of	the	anti	-hourly	sense,	which	is	To	use	the	component	fanmula.
Therefore,	\	begin	{align*}	|	\	VEC	{D}	|	&	=	\	sqrt	{d_x^2+d_Y^2}	\\	&	=	\	sqrt	{(200)^2+(-300)^2}	\\	&	=	500	\	qua	{\	rm	km}	\	end	{align**	}	(c)	The	¢	is	not	the	vector	with	the	$+x	$	in	the	direction	in	the	anti	-hority	direction	is	found	by	the	fanmula	below	\	begin	{align*}	\	alpha	&	=	\	tan	^{-1}	\	Left	(\	frac	{d_y}}}}	\	Right)	\\\\\	&	=	\
tan^{-1}	\	left	(\	frac	{-300}}	\	right)	\\\	\	&	=	-56.3^\	circ	\	end	{align*}	Note	that	this	fanmula	does	not	always	provide	the	correct	one!	If	the	vector	is	in	the	first	and	fourth	quadrant,	this	receives	the	correct	one,	but	for	vectors	in	the	second	and	third	quadrant,	we	should	add	$	180^\	crac	$	to	the	obtained	by	the	above	fan.	What	is	the
displacement	and	bearing	of	the	starting	point?	SOLUTION:	For	each	path,	a	magnitude	and	one	is	given	(direction)	were	given.	\	begin	{align*}	\	vec	{d}	&	=	\	vec	{d}	_1+\	vec	{d}	\\	&	=	(159,255)+(-306,153)	\\	&	=	(159-306,255+153)	\\	\	&	=	(-147,408)	\	end	{align*}	Therefore,	the	total	displacement	of	the	innio	to	the	end	is	written	as	a	vector
as	below	\	[\	vec	{d}	=	-147	\,	\	hat	{i}	+408	\	,	\	hat	{j}	\]	o	¢	I	cannot	make	this	vector	with	positive	axis	is	calculated	as	below	\	begin	{align*}	\	alpha	&	=	\	tan^{-1}	\	left	(\	frac	{d_y	}	{d_x}	\)	\\\\\	&	=	\	tan^{-1}	\	Left	(\	frac	{408}	{-147}	\	Right)	}	In	this	vector	problem,	the	displacement	vector	is	in	the	second	quadrant,	so	that	the	right	one	with
the	positive	x	axis	will	be	obtained	as	\	[\	alpha	=	180^\	circ-70^\	circ	=	110^\	Circ	\]	Problem	(8):	Someone	kicks	kicks	a	soccer	ball.	In	this	particular	example,	we	only	need	the	vertical	components,	since	the	total	displacement	is	only	vertical.	Figure	5.	The	magnitude	and	direction	of	this	vector	is	found	as	\	begin	{align*}	|	\	VEC	{V}	|	&	=	\	sqrt
{v_x^2+v_y^2}	\\	&	=	\	sqrt	{(-2.5)^2+3^2}	\\	&	=	3.9	\	{\	rm	m/s}	\\\\	\	theta	&	=	\	arctan	\	frac	{v_y}}	\\	&	=	\	arctan	\	frac	{+3}	{-2.5}	\\	&	=	-50.2^\	circi	\	end	{align*}	Because	it	is	in	the	second	quadrant,	so	we	should	add	$	180^\	circ	$	ã	Answer	obtained	from	Vector	direction	fanmula	that	provides	\	[\	alpha	=	180^\	circ-50.2^\	circ	=
129.8^\	circ	\]	(b)	because	the	vector	is	in	the	third	quadrant,	so	its	components	$	x	$	and	$	y	$	must	be	negative	as	$	d_x	=	-1	\,	{\	rm	m}	$	e	$	d_Y	=	-2.7	\,	{\	rm	m}	$.	Therefore,	knowing	the	components,	magnitude	and	direction	of	the	displacement	vector	are	calculated	as	below	\	begin	{align*}	|	\	VEC	{D}	|	&	=	\	sqrt	{d_x^2+d_Y^2}	\\	&	=	\
sqrt	{(-1)^2+(-2.7)^2}	\\	&	=	2.8	\	qua	{\	rm	m	\\\\\	\	theta	&	=	\	arctan	\	frac	{d_y}	{d_x}	\\	&	=	\	arctan	\	fac	{-2.7}	{-1}	\\	&	=	69.6^\	circ	\	end	{align*}	because	the	vector	is	in	third	quadrant;	Therefore,	add	$	180^\	circs	$	at	the	above	to	obtain	the	correct	one	as	below	\	[\	alpha	=	180^\	circ+69.6^\	circ	=	249.6^\	circ	\]	Problem	(4):	one	Cannhã
Ball	is	triggered	in	a	$	37^\	circ	$	with	a	speed	of	$	100	\,	{\	rm	m/s}	$.	The	total	displacement	of	man.	To	achieve	this,	we	must	add	the	corresponding	components	with	each	other.	These	simple	problems	are	technic	students	for	teaching	students	and	university.	Circ	$	with	the	direction	$+x	$.	The	weight	is	a	scalar	amount.	To	decompose	a	vector,
the	¢	nigus	must	be	measured	from	the	positive	axis	of	$	x	in	the	anti	-hority	direction.	â	€	from	the	$+x	$	axis,	we	can	reach	the	above	in	the	anti	-hority	direction.	Solution:	The	magnitude	and	direction	of	each	vein	costume	were	presented.	Write	each	vector	in	terms	of	magnitude	and	direction.	In	the	third	quadrant	with	a	1	m	component	and	a
component	Y	of	the	2.7	m	solution.	$	\	vec	{a}	$,	your	magnitude	and	direction	as	the	following	equations	\	begin	{gather*}	|	\	VEC	{a}	|	=	\	sqrt	{a_x^2+a_y^2}	\\	(a)	The	speed	vector	components	are	$	v_x	=	-2.5	\,	{\	rm	m/s}	$	e	$	v_y	=+3	\,	{\	rm	m/s}	$.	In	this	problem,	pay	attention	to	the	specified	ones.	The	case	in	the	decay	of	a	vector
decomposition	in	its	components	is	measured	from	the	$+X	axis	in	a	direction	in	the	anti-agrement	direction.	(c)	What	is	the	total	distance	traveled	to	airplane?	Author:	Ali	Nemati	Published	Published:	6-29-2021	¢	Report	this	dwarf	Â	©	2015	All	rights	reserved.	Now	we	can	find	the	components	of	the	vector,	say	$	\	vec	{d}	$,	with	these	properties
below	\	begin	{align*}	d_x	&	=	|	\	VEC	{D}	|	\	cos	\	theta	\\	&	=	(120)	\	cos	241^\	circ	\\	&	=	-58	\	quad	{\	rm	km}	\\\row	d_Y	&	=	|	\	VEC	{D}	|	\	sin	\	theta	\\	&	=	(120)	\	sin	241^\	circ.	\\	&	=	-105	\	quad	{\	rm	km}	\	end	{align*}	In	the	above,	the	negatives	indicate	the	direction	of	the	distance	traveled	by	the	car.	Therefore,	the	car	traveled	58	km	west
and	105	km	towards	the	south.	Abstract:	In	this	article,	some	questions	about	fanatic	vectors	are	resolved.	sorted	out.
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